o/ d p™ d m™" [pbiGeV?]

Ratio to ATLAS

[HEN
o
R

[HEN
o
w

T

[HEN
<
IS

107

[EEY

0.5

13000 GeV pp tt
| T I T I T I T I T | T I T I I I | 9
— - <
— top . . 9
— pT (ATLAS semileptonic ttbar) s
B 1=
™
- —
| A
o
—
- 1
— o
— mE g o
L —_ >
- . s n ey
— =Ty
— qm
L <
- ™M
| o
o
— —™
b
— B ATLAS . i
---0-- Pythia 6.428 345 <
—  —A— Pythia 6.428 370 Is
— Pythia 6.428 ambtl <
— ——— Pythia 6.428 22 8
— v
B 1o
o
(&)
= | | | ] | | | | &
— -2
1
| —0.5
| 1 " 1 " 1 " 1 " | " 1 " 1 1 1 " |
0 500 1000

pt"= [GeV], m>*M in [550,700] [GeV]



	Contents
	Page 1


